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. Vector lor transmission of malaria is

a) Anopheles b) Aedes ¢) Housefly
edodn deensl) 8¢ S9N anghrioos ToREEE ?

a) eROF b) L@ c) dars
Rickels is caused due to deficiency of
a) Vitamin—A b) Vitamin-D ¢) Vitamin-B
ey Snens) s e o daddotod wosds 9
a) ST A b) exoa' D c) ke’ B

. Siddha system of medicine is most prevalent in

a) Madhya Pradesh  b) Jharkhand c) Tamil Nadu

AT ;g:;ama:’géom el I~ RN Fomexged

a) =g Joied b) wmFoE* c) S
. Coolant used in refrigerators is

a) Nano liquids b) CFC c) Liquid N,

Sudeno'nvd yualcdadsl sndows

a) sydee o b) CFC c) S Frinema
. The Ebola disease is caused by

a) Fungi b) Bacteria c) Viruses

dneoo dnertd B0

a) 80c0g b) m dcoaodn ¢) Fdz*
. Paddy field is an example of

a) Fresh water ecosystem
¢) Engineered ecosystem

t.gdaad)fad!gmas’dw
a) wcg,amm b) ¥» oo
c) 303¢ JoxT d) sde Zoxo

US - 680

d) E. coli

d) a-3aeg

d) Vitamin—C

d) e C

d) Andhra Pradesh
d) sog dies

d) Liquid gases
d) s eav

d) Protozoan

d) Jpednndnem

b) Terrestnal ecosystem
d) Marine ecosystem
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7.

10.

Thermal pollution causes

a) Increased CO, in water

b) Increase in BOD

¢) Increase in COD

d) Decreased dissolved oxygen in water

UEER OO0t ard Lot

a) o9 CO, e D08 b) BOD & 008

c) COD =sdnre dod d) ReoFY, ¥oNT eIy vas
. National Tuberculosis Research Institute is located in

a) Jaipur b) Delhi c) Bengaluru d) Hyderabad

Tody o geddnent Hodrepm deord) 298

a) #Hd b) Zd=d c) tonstadd d) Fooomno’
. Which of the following is not a Green House Gas ?

a) CO, b) CFC's ¢) Methane d) Oxygen

B IINSYrvY cdnaicd Bad w3 vae o ?

a) CO, b) CFC risb c) ogiear d) wahead

Black lung disease is an occupational hazard of
a) lronoremining  b) Coppermining ¢) Coal mining d) Lead mining

Qwﬂndwmd@&ﬁ@dn@ddﬂ%&@odn@d?

a) 6::‘>p b) =y c) ¥9gen d) wex
11. Wastes generated by discarded computer peripherals
a) Computer waste b) E-waste
¢) Solid waste d) Hazardous waste
!fo:pdwﬂﬂowokdaa‘qwg
a) a’omw EotA b) R-B c) vd:sq‘:é d) TImTE
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12, HIV infection mainly causes

a) Liver failure b) Decreased immunity

¢) Cancer d) Kidney failure

HIV Haeods S0, Horesh

a) &Zuswons deod b) F3daeg ¥4 sasolnrach

c) W' d) Shaglors $ncdd
13. Sewage finally flows into water bodies causing

a) Eutrophication b) Bioaugmentation

¢) Biodegradation d) Bioaccumulation

8a%h8 Qedh woxodSRUNeR BecbEoon erbs Womsd

a) cdwniln sy b) wodne wrjcteds

c) wodee afdeay d) wodee wEiRndes
14. Improper sanitation and disposal leads to

a) Ground water discharge b) Ground water loss

¢) Ground water contamination d) Ground water recharge

ol For 9, 00TF o0t e Homsd

a) oduro BRedd b) wosuro R

¢) wcuro=Endg d) ©o3duro demnrs
15. Removable energy generated from sea waves

a) Seawave energy b) Ocean thermal energy

c¢) Tidal energy d) All the above

RSB ednven Sibaarr i B8

a) R vk B3 b) mabod B0l ¥4

c) ¥ ¥4 d) oed3 o,

16. Predominant reason for global warming is

a) Land Pollution b) Air Pollution c) Water Pollution d) Solid Wastes

RNSE RN acdhadcdn sud BRYOT Brogad
a) yastnddg b) e Endg c) deoIAndy  d) PRy
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17.

18.

19.

21.

Major impact of mining activity is
a) StreanvRiver silting

¢) Water pollution

nedmodah Tomd

a) aa/mwm&y

c) umoq

Who is regarded as father of Yoga ?
a) Sushrutha b) Pathanjali
‘daert TR 2z

a) B3 b) SFow:®

WWEF is an acronym for
a) Wildlife World Fund

¢) World Wildlife Finance
WWF & & @ dedd

8) o oty soa
) SoF Yo g Yo,

. Deforestation in the long term leads 1o

a) Loss of biodiversity

¢) Soil erosion and drought
adqaadmdna;aah felateload
a) e Fgidod oy

C) temisSs e wd

Geothermal energy is
a) Turbine energy

¢) Heatenergy
Hanyle s totd

a) ™o 9 b) 0 3

b) Dust pollution
d) Allof the above

b) Gavtes SR,

d) 3008 ao,

¢) Charaka d) Dhanvanthari
c) wdoe d) 3030

b) World Wide Fund for Nature
d) Wildlife World Finance

b) Serrsia’ on” ot Sekor
d) SO SO e,

b) Loss of habitat
d) Allof the above

b) SFae mw ]

d) & eds ooy,

b) Solarenergy
d) Electrical energy

c) wosiss d) oy %
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22. Radiations trapped on earth's surface by green house effect are
a) X-rays b) IR rays c) UV rays d) Allthe above
Baoh 308 WorsbOomN Fanooer Gordors 300
a) g - 80 b) w3rtom) s c) @3 ecn  d) B1dedd ooy
The units to measure noise levels is
a) Ohm b) Pascal c) Decibel d) Calorie
Ze0 TORR TR A0S Pt 0
a) L b) saxer C) dxer d) w,dacd

24.

26.

Which of the following is not a water conservation method ?

a) Improved irrigation

¢) Ground water removal
20 Rech HoUYH DR,
a) s eTnEd LS

C) o3nro 2oegs

. ‘Tiger State’ was first referred to

a) West Bengal

c) Madhya Pradesh

81 ot EONY oty ot sdodumd
a) T3 worny b) gmore

Smoking in public places is an offence
a) In restricted places

c) Yes

RTFERs zgy‘n'don Fashand alepad

a) 3o APnvO wng
c) T

b) Rain water harvesting
d) Reducing water wastage

b) =% e0R Bty
d) Reos Roedbos Idotoch

b) Kamataka
d) Gujarath

c) g d) rouoms

b) Ininstitutions
d) In parks

b) Feleonivd) =g
d) m,ITIWG SR,
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27. Recyclable solid wastes could be
a) Paper b) Glass ¢) Metals
ISR ERY, socaon
a) wnd b) mes ) dnesnid
. Wildlife (Protection) Act was passed in
a) 1952 b) 1984 c) 1972
aqm(doddp) B0diaR) o Jord winir
a) 1952 b) 1984 c) 1972
. Example of an inexhaustible resource
a) Coal b) Natural gas ¢) Fossil fuels
Mmrﬂmdg’d#ow:q'vg NWIRBOrE
a) LIS 0V b) .t wne c) siotned
. Goitre disease is caused by deficiency of
a) Zinc b) Iron c¢) lodine
ndried daerisy) 'addmdsmdgd
a) ¥ b) g c) soineanr
Asthma is caused by the following pollutants
a) Pollen dust b) Particulates ¢) Ozone
eydnuaoam»'adoodxozx)mgd

a) Jdoandera b) Fee=dr c) Ladnear

32. Low blood platelet count is Characteristic of

a) Diabetes b) Malaria ¢) Dengue
oY, Fewrerriet Hoad aeRtOmIYEh 81 doend o8
a) Abshieg b) S&edorn ¢) dorig

d) Allthe above

d) Soeo8 o
d) 1984

d) 1964

d) Solar

d) Aecbres

d) Calcium

9 moato

d) Allthe above

d) Soeds ey

d) Cholera

d) »dm
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33. Adding non-food substances to food Is called

a) Alteration b) Mixing ¢) Adulteration d) Addition

33 wmoders 93d me woud

a) LEODLJHH b) &% IRePd ) sondod d) BeobRPod
34. Sewage discharge into water bodies results in

a) Decreased BOD b) Increased in BOD

¢) Decreased COD d) None of the above

Ryt Ve 4o wrFnood

a) k.. sadainrbach b) kw0, Bemrbhch

¢) Alb.B. saatnrbgmd d) cingjcie ve
35. A biodiversity hot spot in India is

a) Nanda Devi b) Dimbam Ghats ¢) Western Ghats d) Nandi Ghats

B19NSYNVY, cdnad yoss WOSRETTNF S BT 7

a) Jomden b) Dot gy, c) Zhpund  d) Sod Bk
36. The effect of carbon monoxide released by automobiles is that in human systems, it

a) Reduces hydrogen b) Reduces oxygen

c) Reduces CO, d) None of the above

WEFSeT wAREENT Bura’ demd mrRed SREF daand cins vod
sahoiRmgd 9

a) mosdd b) &
¢) RorRun @ o8 o' d) canPoie vy
37. The chemical DDT is
a) Semibiodegradable b) Biodegradable
¢) Non-biodegradable d) Naturally degradable
8.2.38 00 31 SN oS dededh Tammotsd S ?
a) AW wedseariduy b) waldscar@dwe’
¢) S -wolntandue d) 0 ardwo
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38. Deficiency of which vitamin leads to night blindness
a) Vitamin—C b) Vitamin-B c¢) Vitamin—-D d) Vitamin—-A
008, Ba0b 3 8 2enE o daddonod SUCkRIOZS
a) QRO - 4 b) Q3o - v C) IRV - B d) BT -0

39. Automoabile air pollution is controlled by

a) Electrostatic precipitators b) Cyclone separators
¢) Catalytic convertor d) Fabric fiters
BANYord s dnrcied mcdminoq;fz&g‘a‘drfq'w
8) STBR, I’ Lakadensor, b) ysas Adewsor,
) B e d) Ty 4oy,

40. Inbiogas, the chief component is
a) Sulphur b) Carbon monoxide
¢) Methane d) Hydrogen
0w eod oo, e
a) nogi b) caormx::fd.taaael’ﬂ,a‘
c) wgea” d) meowss

41. The permissible thickness of plastic covers to be used especially for packaging
foods is

a) 100 microns b) 10 microns ¢) 40 microns d) 20 microns

A zsevddaza&gd. T U0 Bood i sucdeenduEnh ?

a) 100 DT, b) 10 N’ c) 40 Bymar, d) 20Hma,
42. The disease hepatitis is caused by

a) X-rays b) Radioactive rays

¢) Contaminated water d) All the above

BT T octadod [riden svokRn g

a) - 30 b) Jedcine 802 ) AOIOSE  d) e oy
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43. Terrace forming is practiced in the
a) Hills b) Plains c) Deserts d) Coastal areas
soeaned §aoin HEOSBO He

47.

a) @@ gked  b) A Hoed ) s d) dooade Hded

- The region where river meets the sea

a) Delta b) Ecotone ¢) Shore d) Estuary
X306 BRe 30 Bedssd wort
a) dxm, b) sdacines’ c) e’ d) @z

- Vermi composting is carried out by .
a) Soil fauna b) Earthworms ¢) Fungi d) Insects
d&brnoaacx:?n' esag TR e
a) abmg.zscm b) SdE%L c) orf, d) gessnieh

: Bosidessmnaﬁm.PM.NamaMods‘Swadumehwaw"mnemaddrems
a) Sewage treatment b) Solid waste management
¢) Water treatment d) Air pollution control

ToTahod a!moowddzy{' POS epcingsy, 0 FROF G eddesss dodit & 29N
IR FIWATYS 7

a) 3t Dech HOESH b) yEm xrEs
c) a)eoa!daq;a‘dra d) TeoEndy 2@
Development causing minimum damage to environment is

a) Slow development b) Rapid development
¢) Sustainable development d) Allthe above

2SS b S endn o) Awdendn ) Sedos

SPACE FOR ROUGH WORK
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48.

49,

51.

52.

Smog refers to mix of
a) Smoke + Dem b) Smoke + Pollen
c) Smoke + Fog d) Smoke + Water Vapour
R Loud
a) ot =) anp b) ZEan 3% It
c) Ban 2% mow d) Eant ) Deos ud
The organic matter content in solid wastes can be used to produce
a) Compost b) Biogas ¢) Humus d) Both (a)and (b)
PITHOOUN TS mommmsema cdRRTd EESR weikEah ?
a) S0, b) wodeerm s
¢) sgwr d) (a) 3 (b) 20@e
. The Child Labour (Prohibition and Regulation) Act of 1986 prohibits employing
children below the age of
a) 15 years b) 18 years c) 16years d) 14 years

IR (Reke R SRCHI) Bt 1986 s ctns st sbedh chastn
BricRay e ?

a) 15 I@erish b) 18 Jadrrish c) 16 &drsh d) 14 Sarnsd
Normal body temperature of an adult is

a) 986°F b) 96.8°F c) 946°F d) 99.6°F
SeLro mERT e voxd

a) 986°F b) 96.8°F c) 94.6°F d) 99.6°F
The approach to Unani Medicine, first started in

a) Greece b) India c) Germany d) USA
comR Bl Tdchn Sevian cing deond), Hudsudd: 9

a) nex* b) o3 C) wFR d) cIn.aF.a,
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53. Technology for generation of energy from wastes is

a) Mineralization b) Sedimentation
¢) Segregation d) Biomethanisation
% 00t Rogi Jednosahd), svdodmens Zogen
a) LReleddr b) FQeddes
¢) T esrdcn d) woleesbggRex
54. The “Rain forests of oceans" refers to
a) Coral reefs b) Minerals c) Seaweeds d) Sediments
%) Tortos mmmw‘s
a) as‘.':wmgwa b) DR C) sEu o d) Hovdotonish
55. The following are general soil pollutants
a) Chemicals b) Pesticides c) Fertilizers d) Allthe above
aRINVY, cangyed dmoﬁddg‘ PVOLLTREFTS 9

a) ooxRehREwh b) detsmoenish c) gaeumk‘»p d) 3x05 ooy
56. Pulse Polio Immunization was launched in India in

a) 1980 b) 1995 c) 1975 d) 1990

WwUEY, Fpedadne vrE BodrYR wdorimn wur

a) 1980 | b) 1995 c) 1975 d) 1990
57. Chemical adulterants for turmeric commonly used is

a) Cadmium chloride b) Copper sulphate

c¢) Lead chromate d) Metanil yellow

08RE, Suritd Enmes srcdeentos oomRChR S3K)
a) macho dnedn*  b) BTO* Kok ¢) g dadar  d) ARV e

58. The vaccine used for polio prevention is

a) OPV b) DPT c) MMR d) BCG
éceomeatdg‘ sdrf%w evdodmendiss wad
a) OrPv b) DPT ¢) MMR d) BCG
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59, The natural habitat for Indian lions is

a) Nagarhole b) Gir forest ¢) Sunderbans d) Kanha NP
U300 RoBIY IR, L8 SR cIRs)dh ?
a) mndsed b) ho* =0y
C) RCTOWR, d) s v ecd SRS
60. The ecofriendly fuel is
a) Petrol b) LPG c) CNG d) Kerosene
Toxd Feto 4L
a) Jedneor b) oor.au2. C) AaF.2 d) ddeeaa’
61. Polio is caused by
a) Virus b) Protozoan c) Bacteria d) Fungi
Teedodne suotnrdahed cdngEoed 9
a) Fox* b) dpednedote c) wRddadn d) 2Ocog
62. Chlorination of water is done for
a) Removal of turbidity b) Disinfection
c) Increase in oxygen d) Decrease in oxygen
Qe0F BRLOVFTrRDIRNS o)
a) rlotistixson 32 b) deeme derod
¢) eabesd By d) upsed o
63. The Forest Conservation Act was enacted in
a) 1974 b) 1972 c) 1986 d) 1980
2063, et so000 ol SEF T, 0RO ?
a) 1974 b) 1972 c) 1986 d) 1980
64. Which of these gases filter high energy solar radiations from reaching the earth's
surface ?
a) Oxygen b) Nitrogen ¢) Ozone d) CO,
BRIV, alnss eRuR) FPT DIt dedxgu ?
a) e b) Friaens’ c) Loy d) CO,
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65. International Yoga Day is celebrated on
a) June 16 b) June 21 c) May 22 d) September 17
WMeo& cdnent &'&ﬁg‘ w0zl endoxm T 9
a) =R 16 b) mRa 21 c) S22 d) Apror17
66. Acid rain comprises of
a) Sulphuric acid and ozone b) CO, and nitric acid
¢) Sulphuric and nitric acids d) Sulphuric acid and CO,
), SR, A Tege
) R, or vt 3% badoes b) CO, =y e vy
©) XoR,0n Ry s ey d) Rew, o6 e 45 CO,
67. Starch and animal fats are used to adulterate
a) Paneer b) Milk c¢) Butter d) Khova
R Sod) aRyedon 8wy, cdRedd duiddnt wodpenmes ?
a) Ineo b) @en ¢) urg d) dee
68. Minamata disease is caused due to pollution by
a) Arsenic b) Lead ¢) Mercury d) Cadmium
QmTRL drensy 398w cinsyed SRy 0od wornr P 7 ‘
a) omFEt b) aex c) SO d) ®m,zado
69. Which among these, is a life style disease ?
* a) Dysentery b) Obesity ¢) Jaundice d) Influenza
2o’ FOcor evoimnds deert
a) «3md b) wiawsy c) ot d) aagpodom
70. Environmental Protection Act was passed in
a) 1990 b) 1981 c) 1986 d) 1974
EPA (do#dxodglm uaowd)cwag‘ iR S Y, oRRvTon i) 9
a) 1990 b) 1981 c) 1986 d) 1974

SPACE FOR ROUGH WORK



SA -953 ' Version Code

| SEMESTER B.Com./B.B.M. EXAMINATION, APRIL/MAY 2015 E

(CBCS) (Fresh) (2014 - 15 & Onwards)
ENVIRONMENT AND PUBLIC HEALTH

235915

Question Booklet Sl. No.

Time Allowed : 3 Hours Maximum Marks : 70

INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or forn or missing pages or items, etc. If
any of the above defects is found, get it replaced by a Complete Question Booklet
of the available series.

2. Write clearly the Question Booklet Version Code A, B, C, D or E, in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and affix
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (O.M.R.) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 70 questions carrying equal marks. All questions
must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with
a black or blue ink ball point pen. If more than one circle is shaded / wrongly
shaded / half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated tlll the OMR Answer
Sheet is collected. After handing over the OMR Answer Sheet to the Invigilator
you may leave the examination hall.

PRL : TOesin B om0 8 T borrisd SOV, |




SA - 953 . S daear
28 A2 o, /Bd0. WO, Say* /e 2015 E
(22%35) (37) (2014 ~ 15 308 2o e rier
ord ) MrEas wdae
dl
| syt gob s
HOR B0 3 okt P —

%

1.

O rron e

woed, &, dotiraod Hrste o %2 Yasane wod S ews Zonda egm cmagde Pu
AQPDIYD 2%, OV e BorRTh, Dedd anede oed docb WoT) Lo Loddhin
R orprerseds ted 8 Puoney Hbondqrh.

HEPadod Jalrr dserr A, B, C, D op» Ecnsh (OMR) 030 213, B0 st h soindehdsd
ART RO wiohules,

oo dod (t.m.w.)mommummm.wodummgga,am
a0 s ot FHRORS. wdd T Srdsh, sager Sne'r oedor (O.MR) I3

-

SROTOSSIN A o0s Xeib stnlania tabh atipicod B dnated,
TR RAsats 70 3 2rivel Limacach, Atnd wolrveh decosd, o T 4riers evitdden.

o, dodzocd 21,318 e stV dedtodhchId. o 8 3,21 Bocing tomd SO SR, woly
Sratagded, voly Snad NOETTD 0.6, w30 T3 fodd) Seor Sndeded,

SR LETTIvRG Db wandend L .so.u0r, ¥ T3 fob T e g P RO Wenad toer
FRGhoL APt ok Sndties. romb Sed wozh T I oo ol A S3nvh tar Snadd /

S, F, o Inady, | vdr F3id - Inade, asde Sodrivet peddenriggng,
911 el o worf snalb . ek Brivi Rorden wsorncdd, Saban sorl (Rod B Arivity
RebRRTHED,

Hoedod Somanaish dauba wolh o ERONT Frale (OMR) evdd 28 dabd) mrmmicte rbcha
SRIJE DD, €aaon eduoic womb Ay (OMR) oo T fotty S g

Sesbacystia iy s wniube bosddich, 8adnan sheddsd S ach (OMR) wwdg
B3, $oneh Bedd Nodd ey Hoem Eadacon Bad Eneruabo.

M:EwhwmbndmelmMnslsahmdmmmtmolebookm




|00 3 SA - 953

1.

The temperature of earth will be reduced in the absence of CO, to

a) 30°C b) 26°C c) 32°C d) 28°C
mEmITnEg, CO, Rosjpermn woogs welood 50w ard ol sasbetnrbge
a) 30°C b) 26°C c) 32°C d) 28°C

. Permissible thickness of plastic cover is

a) 20 microns b) 100 microns  ¢) 40 microns d) 60 microns
e 907 e s o,
a) 20 fHma* b) 100 ym~* c) 40 Hym d) 60 Hma*

. The organisms which carries a disease from one organism to another is called

a) Host b) Vector c) Parasites d) None of above
BRrResonva 1ot wRrdooens Rt TR rdn S crbs esrt
a) Inea’, b) =¥o* C) TP, d) cangycie v
. Energy stored in the earth is
a) Magma b) Geothermal c¢) Tidal d) None of the above
oot wiind adxs 98
a) Snn b) Bodeegrer c) Hayr d) cinIcie ey
. Homeopathy treatment avoid side effect.
a) True b) False c¢) Occational d) None of above
BReodRess widotor ciRcie $1 TOmR SYOY,
a) = b) =ab, ¢) smnxg d) cncie e
. The Birth of Austic Children in Dakshina Kannada district is due to the use of
pesticide
a) Endosulfan b) Metacid c) DD.T. d) None of above
T ¥ Bgond wono¥y abgd LSS TOE Setsmsd
a) “oRRme b) Snmam* c) aaw d) cinQcie vy,
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7. The cleanest buming fossil fuel is ;
a) Petrol b) Diesel ¢) Natural gas d) None of above
SRy, ob¥ oae aogy
a) Judnecr b) aer
C) W08 e d) e cnPcdn oy

8. Carbon monoxide reduces bloods ability to carry
a) Nitrogen b) Sulphur ¢) Oxygen d) None of above:
WERITHDE mwra Sedo ot s 2uired oiDY &1 sdos IR
smmn:x;?é 3 i
a) o b) mep* C) ey d) cRycie vy

9. Biogas contains

a) Methane b) Hydrogen sulphide
¢) Carbon dioxide d) Alithe above
LelRmMRTEONS vRomh
a) gesr b) FAnerar R =
¢) vomur g ud o d) cingde vy

10. Ozone layer is present in
a) Troposphere b) Stratosphere  ¢) Exosphere d) lonosphere
TRIVTE Ldae' BRSNS Hed
a) dgme»@d b) ng‘umw c) a&gemu' d) ma&cwo'

11.
a) Airborne diseases
c) Bothaandb
it o0
a) PO wod dremme
¢) a b wo@e

Reason for Dysentery and Diarrhoea is

b) Water borne disease
d) None of above

b) ReORoT word drerved
d) cinghuin ey

SPACE FOR ROUGH WORK
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12.

13.

14,

15.

16.

17.

Environmental (Protection) Act was enacted in the year

a) 1972 b) 1981 c) 1986 - d) 1992
Toxd (BeoEr) mod wdr word S

a) 1972 b) 1981 c) 1986 d) 1992
Cholera and Typhoid are caused by

a) Worms b) Virus c) Bacterla d) Fungus
BOm J0F; oot oo detror ‘
a) Iebnied b) oo C) wRdrooin d) orie*
Jaundice is related to malfunctioning of

a) Pancreas b) Liver ¢) Kidney d) Heart
Dodex it worE dess vort ‘

a) Twodohwr b) &so* c) 83 d) o
The Eco-friendly fuel is

a) Petrol b) Kerosene c) CN.G. d) LP.G.
ot et 2o

a) Judpecr b) redowrd, C) Aanr. 22 d) o228
Transmission of genetic character from parents to children Is termed as

a) Transfer b) Heredity c)aandb d) None of above
mmmmwmmmq_w
a):gvaoid b) eablobecd c) a b o0xs d) cRFPue vy

Beri-Beri disease Is caused by deficiency of

a) Vitamin B1 b) Vitamin A ¢) VitaminC d) Vitamin D
30 230 daentd B0 BadE T dacd

a) D B1 b) Quoa A c) Ao C d) s D

SPACE FOR ROUGH WORK
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18. Theimportant minerals for bone development is
a) Magnesium b) Sodium ¢) Calcium : d) Sulphur
Q0T LSednin OTY T Ddeatons
a) &Qew:bo b) Anetacio ¢) ®Oado d) Boor

19. Urine infection may be due to

a) Mosquitoes b) Using public toilet
¢) Entamoeba d) None of above
RZRPA e
a) Aey saz b) I ed et wid
C) DoLP d) ciRgce we

20, Environmntedwtalonlstamenedto
a) General public b) Professional social group
¢) Scientist d) All the above
megmmm

a) mdnqa:d b) mww c)am‘arm mdxoaagdn
21. Prolonged exposure of microbial and chemical contamination of food weekens

a) Respiratory System b) Immune System
¢) Digestive System d) None of above
MWWdeMw

a) v dnosd b) gédm:dg C) Berardod d) CRPYEa ey
22. OvermolaatwooetmmmeavemgeheahooanofwoMspopmaﬁonis

a) Improved b) Decreased c) Stable d) None of above

modwmmgmwmem@

a) w3atvteond  b) sadainnE ¢) AT d) cinRYEe sey
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23. Genetic constitution determines individuals
a) Physical health b) Mentalhealth c¢) Bothaandb  d) None of above
dm:baqu NgFoEd,
a) 3008 wlpery  b) Mdudoag c) a b woEs d) oiRFgde e
24. Food necessary in building body tissue

a) Carbohydrates b) Vitamins ¢) Minerals d) Protein

CeEs $eess Ouln dend 35

a) wuaregdear b) B0 C) QoNoY’, d) Jp el
25. Modem lifestyle leads to

a) Hypertension  b) Diabetes ¢) Allergies d) Allthe above

LGN oS ¥ Octoor oz,

a) Zroru b) A%shag deert ) o d) oeds aen,
26. The pH level of acid rain water Is

a) 5.7 b) 5.5 c) 56 d) 6.0

P 60 pHE T@nee

a) 5.7 b) 55 c) 56 d) 6.0
27. The presence of oxides of following chemical responsible for acid rain

a) Oxide of nitrogen b) Oxides of sulphur

¢) Bothaandb d) None of above

SS9 2e0SOTE TammabREih

a)mdw‘dzz' b) ﬁodddeﬂ_da' c) a &) b wode d) cIngjdie vy,
28. Fifth June is celebrated as

a) World Population Day b) World Environment Day
¢) Darwins Birthday d) World Hygine Day
BT S cdRe DN wstmons

a) TTowdw wIRews, OF b) Hedss Toxd o

C) TOFFE B O d) dTcrds desg 3 O
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29. Improper solid waste management leads to

a) Breeding Ground for Vector b) Foul Smell
¢) Production of Green House Gases d) Allthe above
mnwmod
a) dQodesiny qao dul@d: b) Fupxs wdhg
¢) B ey S d) e 25
30. Addition of non food items to food s called
a) Addition b) Mixing c) Alteration d) Adulteration
adq‘d smodaw ww@m e wogd

a) deoxbgah b) dFsnabynhy ¢) WEOLYd d) sl
31. While comparing rural areas, the pollution level in urban area is

a) High b) Low ¢) Medium d) None

manongm g rioncs

a) ek b) #as ¢) g d) cnyun 0N
32. The toxic chemicals presents in the soll water will

a) Reduce soil fertility b) Increase soll fertility

¢) Reduce soil fertility temporarily d) None of above

ROIOTOT Hximod Srivess abtg;.t awgs

a) sasboinrgd b)

¢) Be nod&ldmnmgd d) cnPcie C0%
33. Unscientific food habits causes

a) Spoiling health b) Improved health

¢) Changes the health d) None of above

eSS exdaer} Ssciet dan

a) wnmcamgd b) quadﬁcawbyd

c) ‘SM‘S d) m@d:aeq‘
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)0 'Y SA — 953

34. Deforestation generally decreases

a) Globalwarming b) Drought ¢) Soil erosion d) Rainfall

ELloEo ) IR gashainrsgd

a) PPraed TSRS b) =

c) da B3 d) =% Desbdd
35, Adulteration refers to

a) Increasing nutritive value b) Lowering nutritive value

c) Bothaandb d) None of above

soricdooos CERIn TR AR

a) 2 I b) Fasbanrbgmd

c) a SR b oo@n d) cInRFun vy
36. The first country which reorganised the air pollution due to industrialization is

a) India b) America ¢) England d) None

§rR0eTrles SoET feoazgiaotR o) FPROTN rod s Sed

a) o3 b) edeom c) worfon’ d) cingyue v
37. The use of chemical fertilizer in modern agriculture is

a) Increased b) Reduced ¢) Prohibited d) None

SEORE YA omo ol et )pn wed

a) g b) sasoinng c) Rdead d) ciRFuin vy,
38, Og4 stands for

a) Oxygen b) Oxide ¢) Ozone d) Oxygen atom

03m

a) e b) &¢ o c) Ledaew d) ey e
39. Bhopal gas tragedy took place in the year

a) 1982 b) 1984 c) 1983 d) 1985

PRERT'E ER B0 el JurEg Sdoio® ?

a) 1982 b) 1984 ¢) 1983 d) 1985
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40. Knock Knee Syndrome is caused by

a) Fluoride Pollution b) Lead Pollution

c) Mercury Pollution d) Arsenic Pollution L

TOTR MO 010 evokRrien w0

a) G F  b) 2Ry c) BHFo Y d) edrRe oY
41, The toxic gas released when the engines bumns fossil fuels

a) Carbon monoxide b) Carbon dioxide

¢) Nitrogen d) None of above

TR 0TIEd evdmon wEbrdoiRrbs SRt Lo

a) mm'dmes’da‘ b) WL T of

C) e d) cinRae vy
42, Microbial Air Pollutants include

a) Bacteria b) Virus ¢) Fungi d) Allthe above

W seoaSitovrhs Xem P80 Berieh

a) W #ooin b) Fo=* c) &Seogintsh d) Boeds ap
43. Mycoses are infections caused by

a) Virus b) Bacteria c¢) Fungi d) None of above

dSydnenae deertd wdnms om0 D

a) o b) LR 8005 c) 8Oeog) d) ctngcs ey
44. Tuberculosis is caused by

a) Mycobacterium tuberculosis b) Escherichia coli

c) Nisseria species d) Allthe above

ngm dnm‘g L olelnnTad R, 31003

a) Hy8ae trdabo BRLOER BRI  b) TYOROIR BRY,

C) Fr0aIn Kerx ' d) Seds ey

-y
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45, The area of earth covered by water is

a) 80% b) 71% c) 90% d) 50%

DeoRod wsiZRd Wrdooh YEnm

a) 80% b) 71% ¢) 90% d) 50%
46, The built environment include

a) Building b) House c) Street d) Allthe above

3% I0T0e2 05

a) s b) =

c) o3 d) ed3 o Sslodbnd
47. The percentage of oxygen in atmosphere is '

a) 30% b) 20% c) 25% d) 28%

TETREOO e xR

a) 30% b) 20% c) 25% d) 28%
48. The colour of ozone gas is

a) White b) Green c) Blue d) Colourless

ttiner wRos Wy,

a) oo b) @b c) Red d) weptt
49. Outdoor air pollution is a major Environment Health Problem in

a) Developed countries b) Developing countries

¢) Under developed countries - d) All the above

BEDAZ THIT0 A ot Ford 1 tednsh

a) eca:'b%o:nd desnd, b) 50 IPCOS BBV

C) %083 L0 BeBnvd d) ot Besndd somd wehsd
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50. The clinical Symptoms produced by ozone is

a) Cough b) Chest tightness
¢) Bothaandp d) None of above
LRy wneneg “dneriw doeet Wotnrds ooy
a) sy b) & wrb gty
C) a &% b oous d) ctnaia o

51. The cause of Global Warming is
a) Rocks b) Hot air
¢) Green house effect d) None of above
WD hetnrtnErt T w0
a) %o word b) wame
C) T S Womms d) mdmeg

52. Insulin ig Secreated by
a) Liver b) Pancreas ¢) Spleen d) Thyroid
ROPe BR R oo sy
a) b) &mars oo C) A ¢ d) gooawr

53. Unani Medicine Approach started in
a) India b) UsA ¢) England d) Greece
XD Bl s o RO tew
a) o3 b) eeom C) woifoar d) hexr

54, Namoofthedbeasecamodbymom pol!oninganapan
a) Minimata b) ITALITAI ¢) Cyanosis d) Dermatitis
EIRIT By 0 Smden ORI motd
a) otk b) wmentr-cqumasys
C) Tetndoezr d) @abrruer
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§5. Urban pollution can be reduced by introducing
( a) Diesel car b) Electric vehicle c) Gasvehicle  d) None of above

mgmoqmmmmwm
a) ado wd b) m%sm C) TRA" T d) cRPuie oY

56. Deficlencies of which one of these vitamins is a major cause of blindness ?

a) Vitamin A b) VitaminB-12  ¢) Vitamin B-6 d) Vitamin D
ol o3 8nogotood ©op, wdga ?
a) A b) ouSB-12 ¢) dua'B-6 d) 0D

57. Nutritional Marasmus is caused due to the deficiency of

a) Carbohydrates  b) Vitamin c) Protein d) Allthe above
RS TPAFOBR gaodonen SRyt deer gomd adtd 7
a) muaragdar  b) Hw c) Fpeasea d) 2eds o,
58. Water Act was proposed in the year
a) 1984 b) 1974 c) 1994 d) 1964
Re0R Tood), wwdnt wod SHF
a) 1984 b) 1974 c) 1994 d) 1964
59. “Earth provides enough to satisfy every mans need, but not every mans need"
said by
a) Tagore b) Nehru c¢) Gandhi d) None

*ipnootn SRR ooy, e sinv R uTt dosRebIy " w0t Beed
%
a) twine b) 3B c) ok d) cIntn By
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60. Biodegradable wastes shall be processed by ’
b) Vermi composting

61.

a) Composting

c) Anaerobic

% dndaondotm fna Hged
a) mogperpn

c) Awr3 tadolnnd

d) Digestion

b) skw¢ BT eAON

d) esar 3ob

The number of Mental Disorders Children and Adolescence in the world is

a) 20% b) 18%

c) 22%

oo Snane ez syt she e Sotxd Ho

a) 20% b) 18%

c) 22%

62. The most prevalent effects of Noise Pollution is

a) Dumbness b) Deafness
&%zbaoq:S amore
a) Senss b) Pz

. The lowest layer of atmosphere is

a) Stratosphere b) Mesosphere
SNHCT 23 3V oY)

a) muomoho’  b) Sxeeyohot

64. The temperature in the Exosphere is

a) Very low b) Medium
wmmq;ongmm
a) %%, b) g

c) Blindness
c) sbrEs
c) Troposphere
c) vaperoio’
c) Very high

c)rtoq

d) 25%

d) 25%

d) None

d) cinadde vy
d) Exosphere

d) Sdaeheior
d) Moderate

d) =0

(s

SPACE FOR ROUGH WORK




| O 0 15 SA - 953

65.

67.

The most important Green House Gases is .

a) Carbondioxide b) Methane c) Bothaandb  d) None

3 Pt B JF @do

a) womun @ i @ b) &g

c) a &b 0@ d) cincie vy,
. The pollution of water includes

a) Physical b) Chemical c¢) Biological d) Allthe above

genas dedh omd

a) P3d seods b) TommoRE geoas

c) q,:)d LOVER: ] d) Soeds R,

Drinking contaminated water leads to

a) Diarrhoea b) Headache c) Fever d) None of above

genas Deod BeaSotnor wrbs JomEd

a) @Eoindoin b) 2232 c) uo d) cnce vy,
. The most significant ecological factor derived from transformation of surface

rocks

a) Water b) Soil c) Air d) None of above

BOS TOSBrHoon ¥ winS

a) ded b) &orsy, c) me d) cInRPEe By,
. Soil pollutions has adverse effect on

a) Plant growth b) Food cycle c) Bothaandb  d) None of above
P00z eveksrs chEdmED
a) "R uiSen b) s=d oI c) a b ooda d) cIRPTie Oy,

. High levels of fluoride in drinking water cause

a) Liverdamage  b) Flurosis c) Bothaandb  d) None of above
somqu,mgq,wsuosm

a) oqs'mr(ﬂdo b) adeerz’

c) a ¥ b SoER d) cnuin B,
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* || SEMESTER B.COM./B.B.M/B.H.M. EXAMINATION, MAY 2016 A

(CBCS) (2014 - 15 & Onwards) (F +R)

ENVIRONMENT AND PUBLIC HEALTH

Question Booklet SI. No. 238526

e

Time Allowed : 3 Hours Maximum Marks : 70

INSTRUCTIONS ' TO CANDIDATE

. Immediately after the commencement of the Examination, you should check that

this Booklet does not have any unprinted or torn or missing pages or items, efc. If
any of the above defects is found, get it replaced by a Complete Question Booklet

~ of the avallable series.
| Write clearly the Question Booklet Version CodeA, B, C, D or E, in the appropriate

space provided for the purpose, in the OMR Answer Sheet.

. Enter the name of the Subject, Reg. No., Question Booklet version code and affix

Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (O.M.R.) system, special care should be taken to fill those items
acourately. »

_ This Question Booklet contains 70 questions carrying equal marks. All questions

must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR sheet.

. All the answers should be marked only on the OMR sheet provided and only with

a black or blue ink ball point pen.. If more than one circle Is shaded / wrongly
shaded / half shaded for a given question no marks will be awarded.

. Questions are in both English and Kannada. If any confusion arises in the Kannada

version, please refer to the English version of the quesﬁons.

. Immediately after m&.ﬁnal bell indicatifig the closure of the examination, stop‘, making

any furthermarking8iii the OMR Answer: Shigot. Be seated till the OMR Answer
Sheet is collected. After handing over te OB Answer Shestto the Invigilator
you may leave the examination hall.
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g-| ™ 1. The World Environment Day is celebrated on

sTEL

IE————————

a) 8" June b) 6% August ¢) 5 June d) 218 May
8, ToR0 DR a0mh SEOROIIS
a) o 6docy - b) Uk 6T C)meeSTady  d) sbe 2100

2. Carbon monoxide is a pollutant because
a) Reacts with oxygen b) Inhibits glycolysis
¢) Inactivates central nervous system d) Reacts with haemoglobin
omed Seme,a° IROFETE, 200 B
a) eRnRitars S3rREE b) 1 edamtEniugs
¢) $eor ITTBOUR, ot SnBT d) LT o3 RIS

3. All the following are consequences of air pollution except

a) Acid precipitation b) Eutrophication
¢) Depletion of the ozone layer - d) Global warming
B> WHEVIRORE Fpovse,
a) &), otageang b) cdutimeqdess”
c) Loy IE0 Swenrs d) =oned sIEnRS
4. Freon gas causing stratospheric ozone depletion is mainly released from
a) Refrigerators ' b) Thermal powerplant "
c) Automobiles d) Mobile phones
R HRRCI0'S Libpest Tt S SOmmE FROPT 80 A8
ERACIRNZE ;
a) 0§ wdesso® { b) emgad:ﬁsf x.;ndd
c) HBINvos ' d) Seue Tpeanivcs
5. Nitrous oxide has a life span in the atmosphere of about
a) 300years b) 20— 100years  ¢) 114years d) 12years

SHROHTOR WORES ©d, B RO eI
a) 300 =i by 20- 100 Ssdrnidd ¢) 114 SArnd d) 12 q':bit-"ﬁﬁ)
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6. Which of the following is not a green house gas ?. -

a) Water vapour b) Oxygen ¢) Carbon-di-oxide d) Methane

oz Bt SN LROTY,

-a) QeT b) eRouaE ¢) oo & &8 @ d) Qogea®
7. The percentage of fresh water available is

a)71% - b) 100 %

c)25%;. . . d) None of the above

Sort o0 2o 60 Bedrd FHReo

a) 71% . b) 100% c) 25% d) osnPue G
8. Depletion of oxygen or BOD in water causes

a) Increase in biodiversity. b) Death of aquatic animals

¢) Makes water more fit for drinking d) None of the above

ReOTY, W08 LTs 2rvgaor (BOD) a Roiarods

a) BeRIFNGI zﬂqy

b) endond mF

¢) Qe BBO3LD 3R ETEIIN AR W )
d) mmwa ©e)

9. Anthropogemc causes for the increase in atmospheric CO, concentration are

a) Fossil fuel combustion b) Cement manufacturing
c). Deforestation d) Allthe above
DTICTYF @orRon & o8 B3 e Zdd Zooed SnsRug, 5060 003
a) avodovdnd g b) aadotr wommd -
C) e0y =3 d) abeos.wg,
10. Fruits and vegetables are rich in ;
a) Minerals b) Vitamins .. ~c) Bothaandb d) .Chitin
e, WK om0 aPriven deRcgs :
a) Ddamndd « b): gwRorindd c) a b HoEe - d) B RD
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| B R PP

12.

13.

14

-

15. |

R 5

_ Vitamin ‘A’ deficiency leads to

a) Blurred toes and fingers

‘c) Night blindness
‘A eaaoﬁd §nro3ototsnss mw ‘

a) wddo e HENE ned
c) *adadaﬂ:ag‘

Ascorbic acid is rich in

a) Milk, curd, butter and cheese

¢) Citrus fruits

Sty D) Etn e 0% eaﬁmn&éd
a) T, HARDD, wrg;sm 3T,

c) Brwodng asmﬂd)

HIV stands for

a) Human Immuno-deficiency Virus
¢) Heavy Industrial Vehicles

HIV o 273 des

a) BRI fada%z&ra RBAODY, :{,dv
c) B TOBY ST e

Who is considered as father of yoga ?
a) Charaka .
¢) Pathanjali Maharshi

c) zﬁtamcmo B

b) Anaemia -
d) Scurvy

b) djaoeﬁé
d) :;ar

MS — 603

b) Vegetab!es and fmrts

0)599

b) m::&i_; B,
d) seed

b) Hindustan Inter Virus
d) Human Intervention Virus.

b) %oTRRTT’ QLT 3@‘ :
d). aéra,,aa:a‘ mmwm q,dn'

d) Botha and b

d) as) b

d) Open burning

o3menzRas ETC oS :
@) #o8 b) Tocties® " ¢) Wowd WO
Best way of disposing blo-medbcal waste is :
fa) Incineration b) Open dumping ) Landfills
%@6 Mooa»d TN g DTS D t;bai
a) mm/msmw b) 38 5ob SREJER

d) w&Contsen xbd)@db
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16. Expand NIOSH

17.

18.

a) National Institute for Occupational Silicosis Health
b) National Institute of Occupational Service Health

¢) National Institute of Occupational Safety and Health
d) National Institute of Oceanic Science and Health
NIOSH & &7,2 dew

a) National Institute for Occupational Silicosis Health
b) National Institute of Occupational Service Health

c¢) National Institute of Occupational Safety and Health
d) National Institute of Oceanic Science and Health

Iron deficiency leads to

a) Anaemia

b) Improper transportation of respiratory gases

c¢) Increase in maternal and infant mortality

d) Allthe above

BeBnos mt_}vaosd 030l TJomsd

a) Jgten3d - b) eunoots §odoed 008
c) Fo 33 BBy Forsd, Buly d) oedI o,

Siddha system of medicine is a holistic approach which is a major contribution of

a) Baba Ramdev b) Siddha Agastiyar

¢) Ravi Shankar Guruiji d) Jakki Vasudev

wagsiaads A BeEg T3 020 dewed

a)" LR Cootiesy* b) m}q enzo’ c) SuZcdo” rhoee  d) wy wRRes
19. The alternative system of medicine based on the principle that “Like cures like" |

a) Naturopathy b) Homeopathy c) Allopathy d) Ayurveda |

S 8,07 G S,0008 ST sectd TGS 2063 ‘ ‘ |

a) Wi b) Baeocieed c) w8 v d) sotodres |
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21.

23.

24,

(A 7

_ Dissolved oxygen in water comes from

a) Photosynthesis of aquatic plants

“¢) Oxidation

QeOFY, TN RIS B
a) meRxnY D3 xedEs :
c) w:%aﬁrvs

POP stands for

a) Persistent Organic Pesticides
c) Permissable Organic Poliutants
POP o3 2% 3 8RS

a) Persistent Organic Pesticides
c) Permissable Orgamc Pollutants

. Fluorosis affects
a) Kidney b) Bones

' ghdsenrod Eredmrs ot
a) Segussoon b) =aes

An example for water borne disease
a) Malaria b) HIV

MS - 603
b) Difflision of atmospheric oxygen

d) Bothaandb

b) Eosdnn URpIss Hoclaend
dyazb.

b) PersistentOrganic Plastics
d) Purifiable Organic Petrochemicals

b) Persistent Organic Plastics
d) Purifiable Organic Petrochemicals

Deos méagaodddad FORSR BT YHSECN

a) So8edadn b) e

ltai-Itai disease in Japan caused by cons

a) Mercury b) Cadmium

=T, FORMICHT TEROW-BERON TOBOIN Relate] Homosd

a) TRUCR b) s a00d0

c) Teeth "'d) Bothband¢

c) Beoned d) by wdde

¢) Cholera d) Asthma

c). nod d) T=
umption of rice contaminated with .

c) Iron d) Carbon

c) B d) oo

SPACE FOR ROUGH WORK



MS - 603

25. The term “Ecology" was termed by

27.

28,

29.

30.

--a) Emst Haeckel b) Mendel ¢) Robert Cook
Yo’ TOT w38
a) 3drx Zyee b) dorer
C) TR B d) mam‘m:%%c'
. Permissible thickness of plastic cover used is
a) 40 microns b) 20 microns c) 100 microns
TR ebRbs odbs Ay weod B,
a) 40 Fydant b) 208an,  c) 100BEas
Amoebic dysentery is caused by
a) Virus: . b) Bacteria c¢) Protozoa
30 et :0eRa 26 ‘
a) Foor b) em8e00dn c) dpriraioem
The chief function of vitamin K is to regulate
a) Appetite b) Blood clotting ¢) Resistinfection
K’ Wﬁd 30080, TODF, fadaig‘ RoDodROFHTd
a) 2erorgod b) SE@Gritnd  ¢) Aeeosd Jawds
Noise is measured in |
a) Frequency b) Decibles ¢) Dobson
a)z%cs’ .aea;sodaaf.g‘ udoins Swousng :
a) ddomesd b) Bawer C) BRI
The pH level of acid rain water is
a) 5.7 b) 4.0 c) 56
&) 3% eos pH DIwes
a) 57 b) 40 c) 56

-d) Louis Pasteur

9 10380,

d) 29ecg

d) 6.0

|

d) 10 microns
d) Fungi

d) Blood tmnning
d) 08 dsbemrbod
d) Velocity

d) &ert
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4 | (51, The birth of autistc children in Dakshina Kannada District s due 10 theuseol .,

pesticide b 3% o
a) Endosulfan b) Metacid c) DDT d) Atrazide
oo B sdo GRRNYY, wort FSees €Ras R8¢ w0
ZRoa seeoTd P ; s
a) aodRmoR b) Semaw’ c) Baw d) eenue®
32. Energy stored in the earth is ; i % ot _
a) Magma b). Geothermal ¢) Tidal d) Wind
@Rl 3939, BOONCHN B3 ;
a) ®eTy, b) RodpegFS’  C) Ha3 d) v
33. Knock-knee syndrome is caused by G
a) Fluoride pollution b) Land pollution
¢) Mercury pollution | d) Arsenic pollution
-0 TOB0d0 9TT BoTR i
a) a‘!@g’qp“ SoF, b) gin IR,
¢) owOR SBROF o Heh o d) oA, RO
34, The eco-friendly fuel is AL, g el
a) Petrol ~ U p)'CNG c) Kerosene = d) LPG
aﬁoﬁd#g&mxﬁaﬁ Piarseia] Jok . :
a) Stinew’ N o) B v c) mda.wg, d) QB
35. Expand BOD
a) Biology of Development . b) Biological Oxygen Demand
c¢) BioOxygen Deformation . d) Biolog;cal QrganicDeterioratton
BOD o 283 dest )
a) Biology of Development b) Biological Oxygen Demand
¢) Bio Oxygen Deformation d) Biological Organic Deterioration
SPACE FOR ROUGH WORK
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36. Natural aerosol amongst these is
a) Salt b) Soot ¢) CFC d) Silver acetate
RelasEpRAC e Ronlenu ot Al antie
a) e b) @ant
¢) CFC d) wgob el
37. Which among these is a life style disorder ? '
a) Typhoid b) Cholera ¢) Obesity d) Dysentery
B NS cdRPod 2eITFTOTNS wyg ?
a) QE=bsed wd b) mec c) ey d) esshzgod
38. Bio indicators of air pollution is '
., a) Algae " b) Pinus c) Lichens  d) Fem
ek AREYT 08 Aerderidons | '
. a) ..b) = c) ¥y ®=» d) mdeha
39. Abalanced diet should have the following in required proportions -
a) Carbohydrates b) Proteins
¢) Vitamins and minerals . . d) Allthe above
ABreos STty wEoed 2eaci3s -
a) O asnsh b) sptiebndd
C) QTN wE) DR d) Biauy Gosnh
40. Home remedy for common cold and cough is
a) Cinnamon and honey b) Apples
c¢) Curry leaves d) Aloevera
mstng dity e B ach sty | il
a) oy B Wesd  b) Hewd c) soudemy | - d) edeesc
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& 41. Goddess of medicine is y

_(of Greek origin). : a9
~a) Hypiea b) Aesculapius ¢) Panacea d) Phoenix
" e BeSBY, LB By epdesd
a) BodR b) &A8RSeodR’  C) BRCAIR d) T,
42. Ozone hole formation is maximum in ¢
a) Africa - b) India : c) USA d) Antarctica .
bdne BEdE dogd) nY,HeEPNTET J
a) Ba%m b) o3 c) CIOT R d) eotniled
43. Polio-myelitis is due to | ‘
a) Fungi .11 b) Bacteria . ¢) Virus . d) Protozoa
pedoine SOuer Tondod SrEooTRRPE : S
a) dOeonisd b) tw300d® ¢) sjoora0 d) dperdadnnm
44. Bagassosis is due to
a) Soil dust b) Manganese dust ¢) Canefibre “d) Cotton fibre
a);s;tg\{dmda b)'ar%mdm c) madm;,, ) AR
45. Sick building syndrome is due to ,
a) Cladosporium b) Bacteria c) Aspergillus d) Algae
mmmrmxm ‘
"a) QM«W b) ©33c0cin C) SAHTRS, d) <ot3
46. Chief component of bio-gasis | &
a) Hydrogen b) Methane
¢) Carbon-monoxide d) Sulphur
8 epon o), Fi
a) RORT b) g’
¢) oo Semd @' : d) negd
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Rootextractof _______ plantis used in the treatment of cancer. i
a) Sunflower b) Jasmine c) Rose d) Vincarosea
e20F @ deent rorssanoss BaiQod 8t NER weonor Hox 05538
a) Bpchrmod b) &o&r c) o d) Domtredcdn
. The size of the particulate matter which can enter alveoli is less than

a) 0.5 microns b) 10 microns

¢) 20 microns d) 30 microns

9 odped) TedRo evd Brand M3 Tios wEmoNTEE

a) 05Jme, b 0FHET, 0 0HW,  d) [,
. Green house gas which is least influenced by human activity !

a) Hydrogen b) Methane ¢) CFC d) Water vapour

BRTTT 3p06381 HorooRRRE Badh w0 eRe ‘

a) woxTs b) ogiea* C) AR d) 2xoD
. Pollutant which causes asthma

a) Ozone b) Pollen dust

c) Particulate matter d) All the above

eFER FONGN TS BepdNZ e -

a) e’ b) Sooridera c) PRI d) oeds 2T,

Milk is usually adulterated by

a) Pesticide b) Urea ¢) Chalkpowder  d) Allthe above

TOR), MRRF TN AEOE FLeiE SREHRT

a) deumnTs b) cdasbein c) mesdmdey d) 308 de,
. Quality of honey and ghee is certified by »

a) Eco-mark b) AG-mark c) FPP d) CPCB

tdesd> =) o ﬂ)m{ﬁaﬁg&m #o:g

a) cfe-InEr b). ae3-Snerr C) SP°. & d) A,
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b (7 '53. Which among these is a communicable disease ? <K
a) TB b) Cancer
_¢) Hypertension d) Cardio vascular diseases
31 BINIIIL, BT eorBRem
a) 3o b) ©0FB
c) dguesr d) FRchAWR TN - »
54, World AIDS Day is celebrated on
a) August1 b) December 1 ¢) November 1 d) July 1
28, $008¢, ORI 30T ensordesd A !
a)-&nat 1 b) @asowo® 1 ¢) dFor0* 1 dwg1
55. Which city in India is reported to be highly polluted ?
a) New Delhi b) Mumbai ¢) Chennai d) Ahmedabad
Pholeind éwjt.gm w‘od- d»ogzdos’ bate : v
a) SNBz0 b) wwoed c) 43, d) eEmmn
56. Blood pressure of a normal person is { ;
a) 140/90 b) 120/80 c¢) 120/60 d) 1501100
stnerisiod sl ey d9ciage
a) 140/90 b) 120/80 c) 120/60 d) 150/100
57. The basic science of prevehtive'and social medicine is called “
a) Dermatology b) Anthropology ¢} Epidemology d) Cosmology
Fdwormgs I RS SER TG SR Fem s nond .
a) BoFtpu b) eodpenun ¢) paddeon d) mee
58. According to WHO-2015 report HDI ranking of Indiais
a) 150, b) 90 c) 130 d) 160
WHOZ 2015 8300 Zwd tRoed HDI S Becdmod
a) 150 b) 90 ¢) 130 d) 160
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o P [T
The stimulant present in Tobacco is I ¢t
a) Caifeine b) Tannin c) Nicotine d) lodine
SO eudersnd eog tevi
a) saz b) e C) MWreia® d) scdncas®

. Oncology is the study of
a) Bones -~ b) Cancer c) Nerves d) Muscles
fjo@saxtd B obIg QuIg HoroQat ; ]

abrad b) ey c) g d). Snomunos
Lower level of platelet count in biood is the symptom of
a) Typhoid b) Malaria c¢) Diabetes d) Dengue
oEnY swisdtrny Ko, G@dmammdm deenc g .
a) am«sud b) S¥eocitn  ¢) »aoabng “ d) Sorta,

. According to Biomedical Waste (Management andHandling) Rules 1998, waste
should not be stored beyond
a) 12 hours b) 48 hours ¢) 72 hours d) 96 hours
8 Bp Y SOV 19987 L pledo e a'%%rfdab UPRBRY WEXHE K&%
&30
a) 12 rotirsb b) 48 rlotind> . c) _72n’os$rwb d) 96 rictdnsh

. In Ayurveda Tridosha means '

a) Vata, pitta, kapha ~b) Physical, psychologlcal spiritual
¢) Bothaandb d) None of the above e
SooSFes F8 BRSO Jrine aodd -

a) W3, &8, 83 b) u‘@as SRTNE, 98
c)a&ﬂbb d) a*beéafo:majdmao

- The enlargement of thyroid gland is due to the deficiency of
a) Fluorine b) lodine c) lron d) Zinc
GooosrE, Rofod & E030 addimdso&mmr{xm :

a) Fpeoa’ b) ©odnesns c) b’z:ga d) B2
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: <& 65.

67.

a) MO & o L Don® b) BR>P=>
c) r!:auudﬁodsrd d) Jdredaz
69. Chemicals released in the human body in response to allergens is )
a) Histamines b) Antihistamines 2
¢) Phenols d) None of the above
Areodd Srbdmen mqw BeBBEY, U3 Satords CRodRE
8) &y, - b) sokkai
c) P, d) Boeds ctngDd ©y
70. Protein deficiency leads to
a) Kwashiorkor b) Scurvy c) Beri-Beri d) Pellagra
Tpulear dpvdctn 'adg Lolelrnl e
a) ®A0dneEro’ b) Hor c) wio-u3o d) deun

When was family planning initiated in India ?
a) 1950 b) 1951 c) 1952 d) 1953
{RUZEG, Roedd0w odpezsioda W0 wor e
a) 1950 b) 1951 c) 1952 d) 1953
. Solar radiations consists of 75

a) UV radiations b) Visible radiation c¢) Infra red radiation d) All these
Jdraodardq,om Eetatslnn] dra&dwcs _
a) ©3 Jeod 8o b) dawer 3T c) @380y 83 d) S0ed3 ae,

Unani system of medicine originated in
a) Paris b) lceland c¢) Poland d) Greece
a) o’ b) mt‘é ¢) Lpeoer d) Aes*
. The biological decomposition of organic substances in controlled conditionis :

a) Sanitary landfills  b) Incineration ¢) Composting d) Pyrolysis
RIS W B8 QP eISodd DEeSy
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